Maths 3

WALT —divide using arrays



Starter: Can you work out the multiplication
sentence for this array?
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3lots of 5 =15
3x5=15

0000
0000
0000

If we reverse it

We have 15 altogether split in to 3 groups you
have 5 in each.
15—3 = 15




What could this represent?

O OO
O OO0

Remember when we divide
we start with our WHOLE
number.



What could this represent?

O OO
O OO0

2X3=6

Remember when we divide 3x2=6
we start with our WHOLE

number. 6—2 =3
6—3 =2



What could this represent?




What could this represent?

2X4=28
4x2=8
3—2=4
3——4 =2



Look at the arrays on your sheet.
Can you work out what x and =——number
sentences you can make for each one?



